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Paper 1

Booklet A _ _

Questions 1 to 10 cany 1 mark each. Questions 11 ta 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer
Sheel. : _ (20 marks)

4 In 7 486 099, the digit 8 stands for 8 x

(1) 100
2) 1000
(3 10000
{4) 100000

2 Find thevalueof 9x (2+ 16 +2) 4 5.

(1 86
2 95
(3 126
4) 135

3 Which of the following has the smallest vaiua?

@ >
@ =
(@) :2-

PS5 CAT Math 2003 _Paper 1 1
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4 ‘The number of red, blue and purple pens in 2 box are in the ratic of 6- 7 - 5
respectively. if there are 80 blue and purple pens, how many red pens are
there?

{1) S0
{2) 35
(3) 30
{4) 25

1

5 Which of the following is an equivalent of 3 %?
(1) 0.005
(2) 0.05
3y 05
(4) 50
€ David had a ball of ribbon of length 20 m. He usad 155 cm of it to te & parcel

What is the length of ribbon he had ieft?

(1) 4.5cm

{2) 184.5 cm
{3} 1845 em
(4 19845cm

7 Ali had 40y sweets. He gave 12y sweets to each of his 2 friends and gave the
remainder to 4 of his neighbours equally. How many sweets did each neighbour

fecejve?
(1) 7y
2) oy
3y sy
4) 4y

P CA1 Math 2009 _Paper 1 Z
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8 The figure below is not drawn'to scale. AB is a straight line. Find Zp.
P 55°
A B
(1) 30°
2 35°
@) 55°
{4) B60°

9 What is the last digit in the product of

MMx12x13x14 ?

(1 o
2 2 .
3) 6
4y 4

10 28 out of a class of 40 pupils are boys. What percentage of the class are giiis?

() 30%
(2) 40%
(3) 70%
@) 75%

PE6 CA1 Math 2008 Paper 1 3



2009 - P6 - MA - CAl - Ai Tong

i Wirs Teo baked some cookies. She gave 30% of them to her neighbours and her
daughter ate 50% of the remaining cookies. If she had 105 cookies left, how
many cookies did she bake?

(1)
174)
)
4

12 i

A+ Q

C
195
210
300

= 119

and A = <7+ <7+ Q-;- @_+ <7+Q7

ind the value of

{1
{2j

4

VERV)

i3 g of Linda's money is equal to % of Shermaine’s. Express Linda’'s money as a

ratio of the total amount of money both of them had.

(1}
@)
3
4

3:10
3:13
7:13

16:13

PG CA1 Math 2009_Paper 1 4
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i4- There are 6 peopie in a room. There is one handshake between ewvery two
people. How many handshakes are there among these 6 peopie?

(n 12
@ 14
@ 15
4 2

15 . Chandra spent $12 on 2 storybook. He spent half of his remaining money on a
toy. He was left with $5 after buying some sweets that cost $3.50. How much did

he have at first? '
(1) $29.00
2y $22.00
3} %2050
4y $17.00

P& CAT Math 2008_Paper 1 F~
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Booklet B
Questions 16 to 25 cary 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (10 marks)

16 Wirite four hundred thousand, one hundred and eight in numerals.

Ans:

17  The third multiple of a number is 69. What is the number?

Ans:
18 E 1 s 2 parcent
*press oo as a percentage.
Ans: %
18 1f p=23, find the value of 2212
p
Ans:

PE CA1 Math 2009 Paper 5 4
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20 F i ?
i Q 1
7 5
Express the value of Q in fraction in the simplest form.
Ans:
1, . 4
21 How many 7 s are there in 5-7— ?
Ans:
22 Whatis 12% % of 2007
Ans:

P35 CAT Math 2009 _Paper 1
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23 Squares of sides 3 cm each are cut out from a big rectangular cardboard

measuring 15 an by 11 cm. What is the maximum number of squares that can-
be cut out?.

24 In a club, there were 35 male and15 female members. 10 more fernale members
‘joined the club. Find the percentage increase of the club membership.

25  The ratio of the length of 2 rectangle to its width is 3 : 2_ If the perimeter of
the reclangle is 50 cm. find its width.

Ans: cm

PS CAT Math 2003 Pager 1 8
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Questions 28 1o 3¢ carry 2 marks each. Show your working ciearly in the space
provided for each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (10 maiks)

26 if Mr Low buys 3 similar tubs of ice-cream, he will have $12 left. if he buys 5
such tubs of ice-cream, he is short of $22. How much is 1 tub of ice-cream?

Ans: $

Z7  Mrs Goh baked 120 cookies. She gave 50% of the cookias to her neighbours,
10% of the remainder to her rejatives and the rest o the orphanage. How many
cookies did she give to the orphanage?

Ans:

P& CAT Math 2009_Paper 1 9
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28 Sean, David and ! ishan shared a basket! of rambistans in the raticof 3 : 7 : 5.

David had 32 more rambutans than Sean. How many rambutans are there in the
basket?

Ans:

29 Melvin has a piece of wire that is 40 cmi jong.

{a) Whatis the least number of times he needs to cut the wire to get 8 equal
pieces?

{b) Hlow long is each piece of wire?

Ans: (a)

(b) o om

30 Mrtow rented 2 van for five days. He paid $168 each day for the first three days.

and $123 for the rest of the days. Find his average rental payment per day.

An_s: 3

P6 CA1 Math 2005_Papes | 10 " % ;ﬁ ,
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Paper 2 .

Questions 1 1o 5 cany 2 marks each. Show your working clearly in the space provided for
each question and write your answers in the spaces provided. '

For questions which require units, give your answers in the units stated. {10 marks)

Express the perimeter of the figure below in terms of £

7ok

Ans: ) - cm

Each skirt costs $m and 3 blouses cost $62.50. F ind the cost of 2 skirts and
6 blouses. ] :

Ans 3

[24]

The rafio of Paul's age to Sue's ageis4:3.In 8 yéars' time, the sum of their ages
will be 86. What is Paul's age now? ' '

Ans: . yrs old

PS8 CAT Math 2009 Paper 2
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4 inarightangled tiangle, the two sides which form the right angle are 6 cm by ~
12 cm respectively. How many such triangles are needed to form the smallest
possible square?

16 cm

12 cm

Ans:

5 The ﬂg_uré below is made ub of 2 squares, A and B. The ratio of Square A 1o
' Square Bis 1: 4. The shaded part is g of Square A. Whai fraction of the whole

figure is shaded?
A

Ans:

P5 CAT Math 2009 _Paper 2 2
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For questions € to 18, show your working clearly in the space provigded for sach question
and write the answers in the spaces provided.
The number of marks available is shown in the brackets | ] at the end of each question

or part-question. {50 marks)
1 brsadth
6 Zen had a piece of rectangular paper. He cut away 3 of the dength and z of the
tength L
bgeﬂgﬂm. en, he measured the remaining piece of rectangular paper. He found
them;io be 16 cm and the breadth to be 15 cm. Find the area of the original
piece of paper. fon
Ans:__ {31
7 *  Thetable below shows the rates for water anéumpﬁon_
(@) +ing the amount paid for 50 ar of water used.
{b} f 7% GST is nposed on the total amount, how much Is the GST correct
1o the nearest 10-cent?
. Water Consumption Rates
First 20m” - ' $1.33 per m’
Next 20m° - $1.46 per m’
Additional amount above 40 m® . $1.73perm’
Ans:(a)___ SRS 3
(b) _ 14

S A s A sl vinam ey -~
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8 The rectangle ACEG is divided into 4 parts. BCEF is a square. Each part has a
different area. Find the area X.

A B _ _C
8 cm? 10 cm?
H D
) 15 em?
~ G * E
F
Ans: . 131
9 A snail fell into a wel) that is 300 cm deep.

In the first hour, it climbed 80 cm up the well.

In the second howr, it climbed 70 cm up the well.

Each hour, it rmanaged to climb 10 cm less than the hour befose,
How many hours did it take to climb out of the wel}?

Ans: ' {3]

PG CA1 Math 2008_Papes 2 a
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10 The diagrams below show tiling pattems. Each tile is a square of side 1 cm.
_Hl__%_l

Pattern 1 Pattern 2 Pattern 3
Pattem Number 1 2 3 |- 10
Number of squares 4 9 16 —————-- 121
Perimeter {cm} - 10 16 22 —————— ?

What is the perimeter of Pattern 107

Ans: {31
11

James spends 20% of his monthiy income on transport, 30% of ii on food and

- 10% of the remainder on clothes. He saves the rest of his income. If his monthiy
savings'is $900, find his monthly income.

Ans:

P6 CA1 Math 2008 Paper 2 o
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12 20 similar pails of water can fili % of a container. Anocther 8 similar pails and 105
similar bowls of water are needed to fill the container to its brim. How many such
bowls of water are needed to fill the empty container compietely?

Ans: [41
13

'The length of a rectangle is thrice as long as its width. Its perimeter is 16p cm.
{a) Find the length of the rectangle in terms of .

(b)  Find the area of the rectangls if p = 4.

Ans : (a) [2}

o o1

PS CAT Math 2009 Paper 2 4]
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14 For every 209 books Johnson sells, he earns $8. He will receive an addition of
$20 for every 3000 books sold. How many books must he sell to earn $7007

Ans: oo ';_{4]

A

P8 CAY Math 2009 Papzr 2 7
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15 Ata party, only g of the invited _gue_éts came. The ratio of the number of women

to the number of men present was 3 : 4. i 80 more men turmed up for the party,

the number of men would be twice the number of women. How many guests were
invited?

N -

P6 CAT Math 2009_Paper 2 8
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6 The number of pupils in Team A io the number of pupils in Team B is in the ratio

7 6. If 45 pupils are transferred from Team A to Team B, the ratioc will become
2: 3. How many pupils are there altogether? :

Ans. T T s

P6 CA{ Math 2009 Paper 2
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17 75% of the children in the stadium were girls. After 52 girls and 4 boys left, the

remaining chikiren formed groups of 8. In each group, there were 3 boys. How
many children were there in the stadium at first? :

Ang: - o - 6]

A

P6 CA1 Math 2009 _Paper 2 10
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18  Ai Tong Schoaol org

the number of boys was
600 more than th
but the number o

the number of boys decreased by 10%
f girls increased by 10%. If there were 2540 children on the
- second day, how many children were there on the first day?

anized a 2-day camp. On the first day,
e giris. On the second day,

Ans:_ e {5]

' End of Paper _ ' : :
— CHECK YOUR WORK CAREFULLY — T

11

PS CAT Math 2009 _Paper 2
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EXAM PAPER 2009

SCHOOL : AITORG PRIMARY SCHOOL
SUBJECT : PRIMARY 6 MATHEMATICS

TERM : CA 1

Q1 1Q21Q3{Qa[Q5[06]q7]08]Qe]Qio]ou1]Qiz]Qi3]QialQis
4 2

3121413 ]1]a 21411 a1]s3 311
16)400108 17)23 18)44% 19)5 20)6/35
21)39 22)25 = 23)15 squares 24)2005 25)10cm
26)$-17 27)54 cookies 28)120 rambutans

29)a)l times b)5an 30)125.40

Paper 2
1)1L5t+7 2) 2xm=%$2m
1B>6+5=11 $62.50x2=$125
Perimeter $125+$2m
2L+2b Ans:$(125+2m)
(2t+36)
3)8+8=16 . {4)24
86-16=70
70+-7=10
10x4=49 (Paul)

page1to 3 pagel
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5)1/24

6) 8u>16(b) 1u>2 9u>18

3u>15L  1u>5 S5u>25
25x18=450cm: -

. 7)a)$73.10
b)$5.10

8)15+10=25
5x5=25
15+ 5=3cm(HG)
10-:-5=2(AH)
8- 2=4(length of X)
3am—>breadth of X
Area->3x4=12cm:

1h+1h+1h+1h+1h+=5h

9)80+70-+60+50+40=300cm| 10)p4>28 p5>34 p6->40

p7>46 p8>52 p9->58
P10->46cmm:

111> 200/0} spent 12)S5u->20 pails
F>30% 1u>4 pails
R-2>50% 5u->105 bowilis
Clothes->10/100x50% 1u->21 bowls
=50% _ 12u->21x12=252 bowls
Saving-> 100%-50%-5%
=45%
45%-->900
1%—->20
100%-->%$2000
13)a)6p am 14)3000--200=15 sets
b)192cm:

15x$8=$120

$120+$20=$140(3000bk)
$700+$140=5
5x$3000=15000 books

Page 2



2009 - P6 - MA - CAl - Ai Tong

15)2 parts>80 ' 16)A : B A:B

1 parts>40 7 : 6 2 : 3uas
7 parts2>40x7=280 35 : 30 26: 39
4u->280 )
1u>70
Su~>70x9=630 guests 35-26=9u

Su—>45

1u>5

o5u->325 pupils

17)136 children 18)90%+110%+540=2540
. 200%-->2540-540=2000
2000+600=2600 children

Page 3






